PER B RLF 2 E01E M TE R
10 mm +—I=e= A —————————— -+ 10 mm
" » '§ PP YL
T—=T 1 2T RE == 1400 L
Tmm - sz [l A . + 1 mm
500 355
100 um + - LS [ ) Y, [ < 100 pm
BFTERER
.5 U - m R i iy
10 um | #@a Lt e — e I L 10 pm
RE BRBAT a2 sy ED
1 Hm 4 ] . A O B - 1 Hm
(T2 F9 1 b= 2]
100 nm = FEEmSHE ( o g 2 ) e i MAR et = 100 nm
- "7)’?)[/;( 3 *#E%ﬂﬁh:ﬁ'r _"-_'__.'-_.-_.'- AR
10 nm, |l spzsmranans || (BLERESESSEE s 10 nm
5 |UTIEE 25 FE —
— (amzEt ——L 1m
Yt K Ei=
0.1 nm L |CCH& < 4 0.1 nm
. C Emgmie ) 5
107 nm 4= s— = . +107 nm
BHTF BT BhfiraR [ BTROE o
hEF  RF RiEFieRE T4 MFAFIVIESE—
Y V. V. / >
X, WaFRAFOMFEEEREAUDTA X




